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40 4R 3 612527 #kkkkkokok 0429 ARSI M X R [T/ 2 1040 5 1200 2245
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44 ENEE 612527 ##k8kkk%00 15 W AR M X G N 1 520 5 1200 1725
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114 MERE S 61252 Tkt 4415 WA I AL X N X 2 1476 5 1200 2681
115 R 2 61252 Tskskskskookk 5612 MBI B/NXES B+ — ot 702% | 2 1090 5 1200 2295
116 SR 612527k 1824 WA A A X BH AN X 2 966 5 1200 2171
117 A 61252 7kt k%263 1 s A Al e X BH N X 3 1480 5 1200 2685
118 2T 61252706440 14 WA I A A X BH AN X 3 1666 5 1200 2871
119 | =¢fsk 61252 Tk 3014 s M A6 IS4 X BH 7N X 4 1990 5 1200 3195
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124 | #EHps 611026%kkkk6%001 3 WA A AL X — 4 1 745 5 1200 1950
125 g = 61252 7xx40k%%%0026 WA A A X = 1 806 5 1200 2011
126 [k FE AL 61252 Tsskskskk626 15 W AR I A XA DN X 4 1932 5 1200 3137
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128 i) 612527 %55kkkkk401X WA A AL X AZ F9B3-601 4 1266 5 1200 2471
129 Fe%E 61252 7%%5555k5k%66 17 B A T A R R R i — A B 2-2-503 4 2242 5 1200 3447
130 T A 61252 7%%550kkkk 7418 WA A A X2 F9B3-401 3 1356 5 1200 2561
131 FERGE 61252 Tsckioktoioik 4430 B2 A T A A XA A 9A-3-101 4 1390 5 1200 2595
132 AT 61252 Tsskskskskk4813 WA I A XA /N X 14-2-502 4 2216 5 1200 3421
133 FEEL 612527 kkkkkskk543 1 B2 AR T A A XA AN X 3 1870 5 1200 3075
134 iR 61252 Tssksskskik0022 A R 2 I I 2 1596 5 1200 2801
135 | XS2rify 61252 Tk 0027 A M SRR — 2 1180 5 1200 2385
136 bailg 61252788k 001X R EAX A 1 560 5 1200 1765
137 W 61252 755k55%66 13 S T R AN =2 1 570 5 1200 1775
138 BEa 612527 k88856 15 TRBEVFEH X J\H 1 756 5 1200 1961
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145 RN 61252 Tkt 3812 TREE XA 5 2572 5 1200 3777
146 B4 61252 Tsckkkotoik64 19 T A X =2 1 840 5 1200 2045
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148 15 i 611026%ksk8844% 762X R i X T 1 760 5 1200 1965
149 HEN 612527 %%58kkk%7 416 TREE X A 4 2186 5 1200 3391
150 oA Oin 61252 Tasktoiokkk k2634 TR A X A 9 6360 5 1200 7565
151 2 61250 1 %x355kk%0220 TREHEN=AH 3 2022 5 1200 3227
152 ZiE 612527 %5kkkkk%k563X TR A T 1 535 5 1200 1740
153 FEZED 61252 Tkl 08 30 /NG AR X =2 1 513 5 1200 1718
154 R 61252 Tk 041 1 R R X L eH 1 890 5 1200 2095
155 HIEE 61252 7%%58kkkk0425 B REAE AE X R K I X 2 1344 5 1200 2549
156 B 61102655 k5kkx0427 AT A X = ZR N X 1 756 5 1200 1961
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159 R 612527 %%5kkkkk0414 U T IR =20 1 544 5 1200 1749
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162 ER 61252 755555kk%0013 AP 2R P 1 565 5 1200 1770
163 ik = 612527 %5kkkkk301X A S R YA 4 2310 5 1200 3515
164 FH 612527 %%580kk%3025 AR e AR-anlLE 3 1485 5 1200 2690
165 K HEE 61252 7%%555kkkk08 12 AR i) A N A 1 440 5 1200 1645
166 | XEukEE 61252 Tk 0085 AR W) A A 1 440 5 1200 1645
167 R 61252 Tskekokkk 3034 AR o bW A NWAYA: ) 1 580 5 1200 1785
168 £ 61252 7kkst%301 1 A ESPEA IR =4 2 1266 5 1200 2471
169 a5 61252 Tkkkskkkk08 14 AR =i bW A WA 1 560 5 1200 1765
170 EPPERH 61252 7550k5k5%3038 P A —H 1 498 5 1200 1703
171 P 2 61252 Tskketotokkk 30 1X TE~FEE FAIUA 1 756 5 1200 1961
172 (598 61252 7kkk8584%0014 ESFEE A W 1 528 5 1200 1733
173 il 61252 7%5kkkk3417 AR i e o B 2 1072 5 1200 2277
174 | e 61250 1 %%3550kk%0036 I 5 SEEE RN = 1 560 5 1200 1765
175 ZE kA 61252 Tkt 00 19 EIEE PR X 1 726 5 1200 1931
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177 ke 61252 Ttttk 4 422 I A X\ 1 550 5 1200 1755
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178 | fuiE* 61252 Tskokoketoioik 4429 HE A A X 1 601 5 1200 1806
179 | 4k 61252 Tkttt 4473 IR A 1 714 5 1200 1919
180 | #AtH#k 61040 2skskkkk5% 2733 PP AR A — 2 2 1242 5 1200 2447
181 R 61252 Tkt [ 833 PR IR X —2H 3 1689 5 1200 2894
182 0 612527 5kkekekokok 181X PP P4 X = 2 1 756 5 1200 1961
183 WK 61252 Tk 1817 G e o A 1 880 5 1200 2085
184 IRYE T 61252 Tkt 2613 P = i) i o 1 545 5 1200 1750
185 R 612527 k%5566 26 12 PR A X —2H 3 1806 5 1200 3011
186 N 612527 %5kkkkx 2054 TIEEE e —H 1 530 5 1200 1735
187 L 612527 %%556kk%0023 TR G 2 1 561 5 1200 1766
188 UK 61252 Tkttt | 838 BN SR —4 1 550 5 1200 1755
189 [ 612527 %%555kk%0017 S A L 2H 1 610 5 1200 1815
190 | BX#g 61252 Tskkskskk201 7 75 PR A A PO 2H 1 775 5 1200 1980
191 FIER 61252 Tkskkskx2016 A FEEh At 2 1 530 5 1200 1735
192 RN 61252 Tkt 00 10 TR SR —4 3 1569 5 1200 2774
193 B 61252 Tk 0017 L DA EH X B2 1 560 5 1200 1765
194 W 612527 %%558kk%3826 L O g HE A X B2 2 1100 5 1200 2305
195 B 612527 k88853819 L DA E A X VU2 1 542 5 1200 1747
196 i 61252 Tkkkkskk4k3027 L OO R ER AN 3 1737 5 1200 2942
197 2T 6125275kt 4028 L e SR IUA 1 736 5 1200 1941
198 B E 61252 Txk4kk%k% %4030 L DS B R 1 890 5 1200 2095
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